							Gardner M. Bishop Inc. Schiavone Construction Co. LLC				Railroad Constru	uction and DeFoe					E.E Cruz and Company, Inc.		Skanska Koch Inc.			
	e Item Det				Ferreira and			r-Sanzari					С	orp	Union Paving and (tion Group, Inc	-			
Item No.	Unit Code	QTY 1	UNIT L.S.	DESCRIPTION Construction Leveut	RATE \$460,000.00	AMOUNT \$460,000.00	RATE \$1,000,000.00	AMOUNT \$1,000,000.00	\$500,000.00	\$500,000.00	RATE \$600,000.00	AMOUNT \$600,000,00	\$2,000,000.00	AMOUNT \$2,000,000.00	RATE \$866,000.00	AMOUNT \$866,000.00	RATE \$845,000.00	AMOUNT \$845,000.00	RATE \$1,000,000.00	\$1,000,000.00	RATE \$3,101,000.00	AMOUNT \$3,101,000.00
2	1D01LAY 1D10MOB	1	L.S.	Construction Layout Mobilization	\$4,700,000.00	\$4,700,000.00	\$5,080,000.00	\$5,080,000.00	\$5,000,000.00	\$5,000,000.00	\$11,216,707.11	\$600,000.00 \$11,216,707.11	\$5,500,000.00	\$5,500,000.00	\$6,000,000.00	\$6,000,000.00	\$5,900,000.00	\$5,900,000.00	\$6,400,000.00	\$6,400,000.00	\$3,101,000.00	\$3,101,000.00
3	1G04SCH	1	L.S.	Progress Schedule (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$500,000. Enter a Unit Price of \$500,000 as your bid for this item.)	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00		\$500,000.00	\$500,000.00		\$500,000.00	\$500,000.00	\$500,000.00		\$500,000.00	\$500,000.00		\$500,000.00
	1HFP066	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$66,000. Enter a Unit Price of \$66,000 as your bid item for this item.)	\$66,000.00	\$66,000,00	\$66,000,00	\$66,000,00	\$66,000,00	\$66,000,00	\$66,000,00	\$66,000,00	\$66.000.00	\$66,000,00	\$66,000.00	\$66,000,00	\$66,000.00	\$66,000,00	\$66.000.00	\$66.000.00	\$66,000,00	\$66,000.00
5	2C04EMB	64		Porous Fill	\$70.00	\$4,480.00	\$100.00	\$6,400.00	\$200.00	\$12,800.00	* ,	\$5,440.00	\$200.00	\$12,800.00	\$75.00	\$4,800.00	\$87.57	\$5,604.48	\$120.00	\$7,680.00	\$110.00	\$7,040.00
6	2E01FEX	260		Foundataion Excavation	\$70.00	\$18,200.00	\$100.00	\$26,000.00	\$50.00	\$13,000.00		\$114,400.00	\$180.00		\$30.00	\$7,800.00	\$54.54	\$14,180.40	\$120.00	\$31,200.00	\$100.00	\$26,000.00
8	2J09DES	1	L.S.	Clearing Site, Bridge	\$4,000,000.00	\$4,000,000.00	\$4,666,000.00	\$4,666,000.00	\$300,000.00	\$300,000.00	\$3,400,000.00	\$3,400,000.00	\$9,310,106.00	\$9,310,106.00	\$13,230,000.00	\$13,230,000.00	\$375,000.00	\$375,000.00	\$1,000,000.00	\$1,000,000.00	\$3,500,000.00	\$3,500,000.00
9	2K01TPF	5,300.00	L.F.	Temporary Orange Plastic Fence	\$5.00	\$26,500.00	\$7.00	\$37,100.00	\$6.00	\$31,800.00	\$3.95	\$20,935.00	\$5.00	\$26,500.00	\$7.50	\$39,750.00	\$5.96	\$31,588.00	\$5.00	\$26,500.00	\$9.00	\$47,700.00
10	3B06SUP	6,800.00	Ton	Superpave Hot Mix Asphalt 12.5H 64 Surface Course	\$109.00	\$741,200.00	\$90.00	\$612,000.00	\$100.00	\$680,000.00	\$115.00	\$782,000.00	\$200.00	\$1,360,000.00	\$105.00	\$714,000.00	\$87.51	\$595,068.00	\$100.00	\$680,000.00	\$168.00	\$1,142,400.00
11	3B25SUP	5	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$425.00	\$2,125.00	\$250.00	\$1,250.00	\$400.00	\$2,000.00	\$115.00	\$575.00	\$300.00	\$1,500.00	\$85.00	\$425.00	\$2,292.33	\$11,461.65	\$400.00	\$2,000.00	\$190.00	\$950.00
				Cleaning Outside																*		
12	3B31CLS	2,651,000.00	L.F.	Shoulders	\$0.05	\$132,550.00	\$0.20	\$530,200.00	\$0.15	\$397,650.00		\$132,550.00	\$0.07	\$185,570.00	\$0.12	\$318,120.00	\$0.04	\$106,040.00	\$0.03	\$79,530.00	\$0.15	\$397,650.00
13	3B41ABS 3B42ASB	2.000.00	Ton S.Y.	HMA Bridge Surfacing Membrane Waterproofing	\$416.00 \$40.00	\$2,496.00 \$80,000.00	\$400.00 \$20.00	\$2,400.00 \$40,000.00	\$400.00 \$20.00	\$2,400.00 \$40,000.00	·	\$960.00 \$40,000.00	\$300.00 \$15.00		\$800.00 \$25.00	\$4,800.00 \$50,000.00	\$2,292.33 \$20.47	\$13,753.98 \$40,940.00	\$400.00 \$50.00	\$2,400.00 \$100,000.00	\$190.00 \$135.00	\$1,140.00 \$270,000.00
15	3B45HPP	10	Ton	High Performance Cold Patch	\$554.00	\$5,540.00	\$350.00	\$3,500.00	\$110.00	\$1,100.00		\$2,600.00	\$150.00		\$325.00	\$3,250.00	\$272.31	\$2,723.10	\$1,000.00	\$10,000.00	\$180.00	\$1,800.00
16	3D05ASR	10	S.F.	Approach Slab Spall Repair, Type 1	\$143.00	\$1,430.00	\$175.00	\$1,750.00	\$70.00	\$700.00	\$185.00	\$1,850.00	\$80.00	\$800.00	\$200.00	\$2,000.00	\$187.10	\$1,871.00	\$500.00	\$5,000.00	\$200.00	\$2,000.00
17	4ZM05HPC	230	S.Y.	Bridge Approach Slab, HPC	\$416.00	\$95,680.00	\$425.00	\$97,750.00	\$550.00	\$126,500.00	\$550.00	\$126,500.00	\$600.00	\$138,000.00	\$425.00	\$97,750.00	\$461.16	\$106,066.80	\$300.00	\$69,000.00	\$410.00	\$94,300.00
18	3E20PMR	40,000.00	S.Y.	Pavement Removal, Variable Depth	\$4.30	\$172,000.00	\$6.00	\$240,000.00	\$5.00	\$200,000.00	\$12.75	\$510,000.00	\$8.00	\$320,000.00	\$3.25	\$130,000.00	\$3.70	\$148,000.00	\$7.25	\$290,000.00	\$7.00	\$280,000.00
19	3L01SSJ	6,000.00	L.F.	Sawing and Sealing Joints in Asphalt Concrete Overlay	\$3.00	\$18,000.00	\$2.00	\$12,000.00	\$5.00	\$30,000.00	\$2.25	\$13,500.00	\$10.00	\$60,000.00	\$2.25	\$13,500.00	\$3.22	\$19,320.00	\$4.10	\$24,600.00	\$5.00	\$30,000.00
		000 000 00		Reinforcement Steel,	00.50	#1 011 500 00	*0.00	# 570,000,00	\$5.00	04 445 000 00	#0.05	#050 550 00	20.00	#754 400 00	#7.00	# 0.000.000.00	00.40	0000 000 00	#0.05	#050.050.00		# 570,000,00
20	4A11RFS 4A20LMC	289,000.00		Latex Modified Concrete Overlay (Variable Depth)	\$3.50 \$1,500.00	\$1,011,500.00 \$240,000.00	\$2.00 \$1,500.00	\$578,000.00 \$240,000.00	\$5.00 \$1,500.00	\$1,445,000.00 \$240,000.00		\$852,550.00 \$339,313.60	\$2.60 \$2,000.00		\$7.00 \$1,850.00	\$2,023,000.00 \$296,000.00	\$2.42 \$2,988.36		\$2.25 \$1,800.00	\$650,250.00 \$288,000.00	\$2.00 \$1,800.00	\$578,000.00 \$288,000.00
22	4A12RBC	700		Reinforcement Bar Coupler	\$40.05	\$28,035.00	\$40.00	\$28,000.00	\$50.00	\$35,000.00	\$45.00	\$31,500.00	\$35.00	\$24,500.00	\$70.00	\$49,000.00	\$25.34	\$17,738.00	\$40.00	\$28,000.00	\$70.00	\$49,000.00
23	4A20BPB	12,200.00	L.F.	Barrier Parapet, Bridge	\$120.00	\$1,464,000.00	\$180.00	\$2,196,000.00	\$165.00	\$2,013,000.00	\$260.00	\$3,172,000.00	\$200.00	\$2,440,000.00	\$120.00	\$1,464,000.00	\$262.01	\$3,196,522.00	\$210.00	\$2,562,000.00	\$500.00	\$6,100,000.00
0.4	NIAAOOOA	63,000.00	0.1/	Sawcut Grooved Deck	\$3.05	\$100.450.00	60.50	0457 500 00	60.05	\$141,750.00	\$14.00	\$000 000 00	60.50	¢457.500.00	\$2.75	£472.050.00	\$2.42	\$152,460.00	60.75	\$000 OF0 00	\$5.00	\$315,000.00
24 25	N4A0001 4C01SSC	202,500.00		Surface Shear Connectors	\$3.05 \$6.00	\$192,150.00 \$1,215,000.00	\$2.50 \$5.00	\$157,500.00 \$1,012,500.00	\$2.25 \$4.50	\$141,750.00		\$882,000.00 \$759,375.00	\$2.50 \$5.00		\$2.75 \$3.40	\$173,250.00 \$688,500.00	\$2.42 \$5.05		\$3.75 \$3.50	\$236,250.00 \$708,750.00		\$315,000.00
26	4C05SSL	1	L.S.	Structural Steel	\$1,349,110.00	\$1,349,110.00	\$2,500,000.00	\$2,500,000.00		\$3,000,000.00		\$2,680,000.00	\$2,000,000.00			\$3,000,000.00	\$4,164,057.90	\$4,164,057.90	\$7,000,000.00	\$7,000,000.00		\$3,000,000.00
27	4C00011	130	Each	Access Platform	\$800.00	\$104,000.00	\$3,500.00	\$455,000.00	\$20,000.00	\$2,600,000.00	\$1,250.00	\$162,500.00	\$5,000.00	\$650,000.00	\$240.00	\$31,200.00	\$6,880.67	\$894,487.10	\$550.00	\$71,500.00	\$3,500.00	\$455,000.00
00	4007000	105 000 00	D	Structural Steel, Drainage	***	ØE00.000.00	611.00	P4 07F 000 00	645.00	¢4.075.000.00	A7.	\$07F 000 00	00.00	£4.000.000.00	00.00	£4 000 000 00	01000	PO 004 050 00	05.00	\$00F.000.00	00.00	¢750 000 00
28 29	4C07SSD 4D01TBH	125,000.00 550		New Hardware	\$4.00 \$10.00	\$500,000.00 \$5,500.00	\$11.00 \$16.00	\$1,375,000.00 \$8,800.00	\$15.00 \$8.00	\$1,875,000.00 \$4,400.00		\$875,000.00 \$22,000.00	\$8.00 \$8.00		\$8.00 \$35.00	\$1,000,000.00 \$19,250.00	\$16.01 \$7.01	\$2,001,250.00 \$3,855.50	\$5.00 \$30.00	\$625,000.00 \$16,500.00	\$6.00 \$13.00	\$750,000.00 \$7,150.00
30	4D02TBH	200		New Hardware Below	\$60.00	\$12,000.00	\$45.00	\$9,000.00	\$20.00	\$4,000.00		\$16,000.00	\$22.00		\$55.00	\$11,000.00	\$19.15	\$3,830.00	\$75.00	\$15,000.00	\$15.00	\$3,000.00
31	4D22NTT	500	FBM	Furnish And Place New Treated Timber Above MLW	\$65.00	\$32,500.00	\$25.00	\$12,500.00	\$35.00	\$17,500.00	\$120.00	\$60,000.00	\$80.00	\$40,000.00	\$60.00	\$30,000.00	\$70.39	\$35,195.00	\$10.00	\$5,000.00	\$70.00	\$35,000.00
				Furnish And Place New Treated Timber Below			·						·				·					
32	4D23NTT	200	FRM	MLW Furnish And Place New	\$110.00	\$22,000.00	\$50.00	\$10,000.00	\$85.00	\$17,000.00	\$240.00	\$48,000.00	\$120.00	\$24,000.00	\$90.00	\$18,000.00	\$103.18	\$20,636.00	\$50.00	\$10,000.00	\$100.00	\$20,000.00
33	4D32NPT	800	FBM	Trimax 400 Plastic Lumber Above MLW	\$70.00	\$56,000.00	\$25.00	\$20,000.00	\$45.00	\$36,000.00	\$50.00	\$40,000.00	\$50.00	\$40,000.00	\$45.00	\$36,000.00	\$39.55	\$31,640.00	\$15.00	\$12,000.00	\$40.00	\$32,000.00
34	4D33NPT	300	FBM	Furnish And Place New Trimax 400 Plastic Lumber Below MLW	\$170.00	\$51,000.00	\$70.00	\$21,000.00	\$95.00	\$28,500.00	\$180.00	\$54,000.00	\$120.00	\$36,000.00	\$55.00	\$16,500.00	\$101.16	\$30,348.00	\$35.00	\$10,500.00	\$100.00	\$30,000.00
35	4D36RTP	5	Each	Reattach Loose Timber Pile	\$4,000.00	\$20,000.00	\$1,500.00	\$7,500.00	\$5,000.00	\$25,000.00	\$3,200.00	\$16,000.00	\$1,000.00	\$5,000.00	\$2,400.00	\$12,000.00	\$2,684.23	\$13,421.15	\$10,000.00	\$50,000.00	\$8,000.00	\$40,000.00
36	4F25IOS	1	L.S.	Install Overhead Span Sign Structure No. 1	\$45,000.00	\$45,000.00	\$75,000.00	\$75,000.00	\$22,000.00	\$22,000.00		\$40,000.00	\$22,000.00		\$50,000.00	\$50,000.00	\$43,221.47	\$43,221.47	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
37	4F26RES	1	L.S.	Remove Existing Span Sign Structure No. 1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$25,709.55	\$25,709.55	\$25,500.00	\$25,500.00	\$12,000.00	\$12,000.00

Bess !!	a lices Dec	a:I			Ferreira and Tutor Perini Creamer-Sanzari				Gardner M. Bishop Inc. Schiavone Construction Co. LLC Railroad Co					ailroad Construction and DeFoe Union Paving and Const. Co., Inc.				ion Group, Inc	Skanska Koch Inc.			
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	orp AMOUNT	RATE	AMOUNT	RATE	AMOUNT	E.E Cruz and C	AMOUNT	RATE	AMOUNT
				Painting Existing																		
38	4K09PES 4L01BDR	103,000.00	S.F. Each	Steelwork Inlet Frames and Grates	\$50.00 \$1,500.00	\$5,150,000.00 \$312,000.00	\$25.00 \$2,500.00	\$2,575,000.00 \$520,000.00	\$30.00 \$1,200.00	\$3,090,000.00	\$22.00 \$7,500.00	\$2,266,000.00 \$1,560,000.00	\$24.00 \$1,800.00	\$2,472,000.00 \$374,400.00	\$8.00 \$1,800.00	\$824,000.00 \$374,400.00	\$36.12 \$0.01	\$3,720,360.00 \$2.08	\$25.00 \$1,300.00	\$2,575,000.00 \$270,400.00	\$46.00 \$1,300.00	\$4,738,000.00 \$270,400.00
40	4L07SCU	208			\$4,000.00	\$832,000.00	\$2,500.00	\$520,000.00	\$6,000.00	\$1,248,000.00	\$7,600.00	\$1,580,800.00	\$6,000.00	\$1,248,000.00	\$5,500.00	\$1,144,000.00	\$0.01	\$2.08	\$5,000.00	\$1,040,000.00	\$8,000.00	\$1,664,000.00
41	41.0055550	3,100.00	L.F.	8" Drainage Pipe,	\$275.00	\$852,500.00	\$210.00	\$651,000.00	\$200.00	\$620,000.00	\$95.00	\$294,500.00	\$180.00	\$558.000.00	\$85.00	\$263.500.00	\$225.48	\$698.988.00	\$225.00	\$697,500.00	\$210.00	\$651,000.00
42	4L09FDP8 4L04BDI	3,100.00	Each	Fiberglass Repair Bridge Drop Inlet	\$1,900.00	\$17,100.00	\$3,250.00	\$29,250.00	\$500.00	\$4,500.00		\$4,500.00	\$3,000.00	\$27,000.00	\$1,700.00	\$15,300.00	\$2,123.03	\$19,107.27	\$5,000.00	\$45,000.00		\$26,100.00
				Clean Bridge Drainage																*		
43	4L05CBD 4L08WIG	100 161		System Weld Existing Inlet Grate	\$30.00 \$600.00	\$3,000.00 \$96,600.00	\$35.00 \$300.00	\$3,500.00 \$48,300.00	\$30.00 \$400.00	\$3,000.00 \$64,400.00		\$15,000.00 \$48,300.00	\$40.00 \$700.00	\$4,000.00 \$112,700.00	\$30.00 \$200.00	\$3,000.00 \$32,200.00	\$10.74 \$441.58	\$1,074.00 \$71,094.38	\$65.00 \$400.00	\$6,500.00 \$64,400.00		\$1,500.00 \$84,525.00
45	4L00TDD	316		Temporary Deck Drain	\$316.00	\$99,856.00	\$700.00	\$221,200.00	\$250.00	\$79,000.00		\$79,000.00	\$450.00	\$142,200.00	\$600.00	\$189,600.00	\$505.01	\$159,583.16	\$375.00	\$118,500.00	\$1,500.00	\$474,000.00
46	4Q02BDR	620	S.Y.	Concrete Deck Replacement	\$900.00	\$558,000.00	\$700.00	\$434,000.00	\$1,595.00	\$988,900.00	\$750.00	\$465,000.00	\$700.00	\$434,000.00	\$1,000.00	\$620,000.00	\$1,240.93	\$769,376.60	\$650.00	\$403,000.00	\$850.00	\$527,000.00
47	4Q03BDR	520		Concrete Deck Replacement with Catches	\$980.00	\$509,600.00	\$800.00	\$416,000.00	\$1,600.00	\$832,000.00		\$494,000.00	\$1,200.00	\$624,000.00	\$1,100.00	\$572,000.00	\$1,333.58	\$693,461.60	\$725.00	\$377,000.00	\$1,050.00	\$546,000.00
	4Q00BBIT			Removal of Asphalt	700000	4 222,222.22	***************************************	•	4 1,000.00	***************************************	700000	***************************************	**,=****	4 02 1,000100	4 1,100.00	4 0. =,000.00	Ç 1,500100	V	Ç. 20.00	*****	4 1,000.00	V 0 10,000.00
48	4Q07BDR	2,200.00	S.Y.	Surfacing and Scarify Concrete	\$9.00	\$19,800.00	\$14.00	\$30,800.00	\$50.00	\$110,000.00	\$16.00	\$35,200.00	\$11.00	\$24,200.00	\$30.00	\$66,000.00	\$4.69	\$10,318.00	\$10.50	\$23,100.00	\$11.00	\$24,200.00
				Removal of Existing			·															
49	4Q08BDR	101,000.00	S.Y.	Surfacing Removal and	\$4.00	\$404,000.00	\$5.00	\$505,000.00	\$25.00	\$2,525,000.00	\$9.00	\$909,000.00	\$3.50	\$353,500.00	\$0.01	\$1,010.00	\$4.13	\$417,130.00	\$2.75	\$277,750.00	\$7.00	\$707,000.00
				Replacement of Existing																		
50	4Q09BDR	420	S.F.	Surfacing	\$45.00	\$18,900.00	\$45.00	\$18,900.00	\$40.00	\$16,800.00	\$40.00	\$16,800.00	\$20.00	\$8,400.00	\$20.00	\$8,400.00	\$28.31	\$11,890.20	\$6.00	\$2,520.00	\$7.00	\$2,940.00
51	4Q20H01	20	L.F.	Headblock Repair, Type 1 Headblock Repair, Type 2	\$600.00	\$12,000.00	\$500.00	\$10,000.00	\$450.00	\$9,000.00		\$12,000.00	\$500.00	\$10,000.00	\$225.00	\$4,500.00	\$149.80	\$2,996.00	\$350.00	\$7,000.00	\$400.00	\$8,000.00
52	4Q20H02	20	L.F.	Removal of SIP Metal	\$900.00	\$18,000.00	\$500.00	\$10,000.00	\$500.00	\$10,000.00	\$620.00	\$12,400.00	\$500.00	\$10,000.00	\$250.00	\$5,000.00	\$226.47	\$4,529.40	\$700.00	\$14,000.00	\$400.00	\$8,000.00
53	4Q22BDR	11,500.00	S.Y.	Forms	\$9.00	\$103,500.00	\$5.00	\$57,500.00	\$20.00	\$230,000.00		\$77,625.00	\$20.00			\$74,750.00	\$4.95	\$56,925.00	\$12.00	\$138,000.00		\$1,897,500.00
54	4Q30S01	4,650.00	S.F.	Spall Repair, Type 1	\$80.00	\$372,000.00	\$55.00	\$255,750.00	\$60.00	\$279,000.00		\$186,000.00	\$55.00			\$116,250.00	\$63.80	\$296,670.00	\$22.00	\$102,300.00		\$558,000.00 \$403,000.00
55 56	4Q30S02 4Q30S04	3,100.00 3,050.00	S.F.	Spall Repair, Type 2 Spall Repair, Type 4	\$100.00 \$192.00	\$310,000.00 \$585.600.00	\$80.00 \$150.00	\$248,000.00 \$457,500.00	\$65.00 \$80.00	\$201,500.00 \$244.000.00		\$167,400.00 \$915,000.00	\$80.00 \$200.00	\$248,000.00 \$610.000.00	\$25.00 \$65.00	\$77,500.00 \$198,250.00	\$94.56 \$147.39	\$293,136.00 \$449.539.50	\$38.00 \$280.00	\$117,800.00 \$854.000.00	\$130.00 \$260.00	\$793,000.00
57	4Q30S05	3,075.00	S.F.	Spall Repair, Type 5	\$55.00	\$169,125.00	\$70.00	\$215,250.00	\$65.00	\$199,875.00	\$55.00	\$169,125.00	\$50.00	\$153,750.00	\$30.00	\$92,250.00	\$63.80	\$196,185.00	\$118.00	\$362,850.00	\$120.00	\$369,000.00
58	4Q30S06	3,440.00	S.F.	Spall Repair, Type 6	\$145.00	\$498,800.00	\$150.00	\$516,000.00	\$80.00	\$275,200.00	\$120.00	\$412,800.00	\$200.00	\$688,000.00	\$35.00	\$120,400.00	\$147.39	\$507,021.60	\$290.00	\$997,600.00	\$240.00	\$825,600.00
59	4Q30S5A	1,000.00	S.F.	Spall Repair, Type 5A Joint Reconstruction, Type	\$50.00	\$50,000.00	\$75.00	\$75,000.00	\$70.00	\$70,000.00	\$60.00	\$60,000.00	\$50.00	\$50,000.00	\$30.00	\$30,000.00	\$97.36	\$97,360.00	\$88.00	\$88,000.00	\$140.00	\$140,000.00
60	4Q50J01	320	L.F.	1	\$1,450.00	\$464,000.00	\$850.00	\$272,000.00	\$1,000.00	\$320,000.00	\$1,000.00	\$320,000.00	\$1,500.00	\$480,000.00	\$1,600.00	\$512,000.00	\$1,781.94	\$570,220.80	\$1,600.00	\$512,000.00	\$1,900.00	\$608,000.00
61	4Q50J02	2,000.00	L.F.	Joint Reconstruction, Type 2	\$1,400.00	\$2,800,000.00	\$900.00	\$1,800,000.00	\$1,000.00	\$2,000,000.00	\$950.00	\$1,900,000.00	\$1,400.00	\$2,800,000.00	\$1,600.00	\$3,200,000.00	\$1,759.39	\$3,518,780.00	\$1,800.00	\$3,600,000.00	\$1,500.00	\$3,000,000.00
62	4050 100	90	L.F.	Joint Reconstruction, Type	\$1,900.00	\$152,000.00	\$1,200.00	\$96,000.00	\$1,300.00	\$104,000.00	\$1,020.00	\$81,600.00	\$1,600.00	\$128,000.00	\$1,700.00	\$136,000.00	\$1,881.24	\$150,499.20	\$1,800.00	\$144,000.00	\$1,600.00	\$128,000.00
62	4Q50J03	80	L.F.	Joint Reconstruction, Type	+	\$152,000.00	\$1,200.00	\$96,000.00	\$1,300.00	\$104,000.00	\$1,020.00	\$81,600.00	\$1,000.00	\$128,000.00	\$1,700.00	\$136,000.00	\$1,881.24	\$150,499.20	\$1,800.00	\$144,000.00	\$1,600.00	\$128,000.00
63	4Q50J04	80	L.F.	Joint Reconstruction, Type		\$144,000.00	\$1,050.00	\$84,000.00	\$1,400.00	\$112,000.00	\$1,250.00	\$100,000.00	\$1,600.00	\$128,000.00	\$2,600.00	\$208,000.00	\$1,292.06	\$103,364.80	\$3,000.00	\$240,000.00	\$2,000.00	\$160,000.00
64	4Q50J05	240	L.F.	Joint Reconstruction, Type	\$2,300.00	\$552,000.00	\$1,600.00	\$384,000.00	\$2,200.00	\$528,000.00	\$1,275.00	\$306,000.00	\$2,600.00	\$624,000.00	\$3,300.00	\$792,000.00	\$2,652.37	\$636,568.80	\$4,000.00	\$960,000.00	\$3,000.00	\$720,000.00
65	4Q50J06	560		6 Joint Reconstruction, Type	\$410.00	\$229,600.00	\$345.00	\$193,200.00	\$200.00	\$112,000.00	\$450.00	\$252,000.00	\$270.00	\$151,200.00	\$275.00	\$154,000.00	\$664.14	\$371,918.40	\$200.00	\$112,000.00	\$330.00	\$184,800.00
66	4Q50J07	40	L.F.	7	\$650.00	\$26,000.00	\$315.00	\$12,600.00	\$100.00	\$4,000.00	\$1,040.00	\$41,600.00	\$1,000.00	\$40,000.00	\$300.00	\$12,000.00	\$530.88	\$21,235.20	\$700.00	\$28,000.00	\$800.00	\$32,000.00
67	4Q50JFJ	20	L.F.	Joint Reconstruction, Type FJ Joint Reconstruction, Type	\$300.00	\$6,000.00	\$750.00	\$15,000.00	\$100.00	\$2,000.00	\$1,400.00	\$28,000.00	\$200.00	\$4,000.00	\$500.00	\$10,000.00	\$554.40	\$11,088.00	\$1,500.00	\$30,000.00	\$1,000.00	\$20,000.00
68	4Q50J08	80		8	\$1,400.00	\$112,000.00	\$1,000.00			\$88,000.00		\$82,400.00	\$1,700.00			\$136,000.00	\$1,843.39		\$5,000.00	\$400,000.00		
69	4Q00001	60,300.00	S.Y.	Catches Removal of Existing Deck	\$110.00	\$6,633,000.00	\$150.00	\$9,045,000.00	\$100.00	\$6,030,000.00	\$250.00	\$15,075,000.00	\$225.00	\$13,567,500.00	\$215.00	\$12,964,500.00	\$225.48	\$13,596,444.00	\$300.00	\$18,090,000.00	\$190.00	\$11,457,000.00
70	4Q11BDR	60,200.00	S.Y.	Slab	\$60.00	\$3,612,000.00	\$80.00	\$4,816,000.00	\$216.00	\$13,003,200.00	\$120.00	\$7,224,000.00	\$160.00	\$9,632,000.00	\$160.00	\$9,632,000.00	\$145.31	\$8,747,662.00	\$250.00	\$15,050,000.00	\$309.00	\$18,601,800.00
71	4Q10FAE	1	L.S.	Force Account for Emergency and Routine Bridge Repairs. (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$1,000,000. Enter a Unit Price of \$1,000,000 as your bid for this item.)		\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00	\$1,000,000.00
				Concrete in Headblock,																		
72	4ZM03HPC	24	C.Y.	HPC Sidewalk, Parapet and	\$1,500.00	\$36,000.00	\$1,300.00	\$31,200.00 \$70,300.00	\$1,700.00	\$40,800.00		\$225,600.00	\$1,200.00	\$28,800.00 \$66,600.00		\$28,800.00	\$2,959.14	\$71,019.36	\$3,000.00	\$72,000.00	\$2,500.00 \$210.00	\$60,000.00 \$155,400.00
73	4R01BSR	740		Curb Surface Repairs Repair of Structural Steel,	\$150.00	\$111,000.00	\$95.00		\$70.00	\$51,800.00		\$59,200.00	\$90.00			\$62,900.00	\$153.75	\$113,775.00	\$55.00	\$40,700.00		
74	4R11RSS	40	Each	Repair of Structural Steel,	\$10,000.00	\$400,000.00	\$13,500.00	\$540,000.00	\$5,500.00	\$220,000.00		\$380,000.00	\$17,000.00	\$680,000.00	\$19,000.00	\$760,000.00	\$20,022.48	\$800,899.20	\$5,200.00	\$208,000.00		\$124,000.00
75	4R12RSS	48	Each	Type B Repair of Structural Steel,	\$4,000.00	\$192,000.00	\$7,500.00	\$360,000.00	\$6,000.00	\$288,000.00	\$2,800.00	\$134,400.00	\$2,500.00	\$120,000.00	\$3,400.00	\$163,200.00	\$1,164.47	\$55,894.56	\$1,500.00	\$72,000.00	\$800.00	\$38,400.00
76	4R13RSS	31	Each		\$6,000.00	\$186,000.00	\$10,000.00	\$310,000.00	\$2,000.00	\$62,000.00		\$303,800.00	\$7,500.00	\$232,500.00	\$7,200.00	\$223,200.00	\$3,356.76	\$104,059.56	\$4,000.00	\$124,000.00		\$52,700.00
77	4R14RSS	13	Each	Type D	\$20,000.00	\$260,000.00	\$22,500.00	\$292,500.00	\$17,000.00	\$221,000.00		\$390,000.00	\$25,000.00	\$325,000.00	\$25,000.00	\$325,000.00	\$15,919.22	\$206,949.86	\$26,000.00	\$338,000.00	\$12,000.00	\$156,000.00
78	4S01WRR	11,200.00	L.F.	Wire Rope Repair Structural Steel,	\$40.00	\$448,000.00	\$40.00	\$448,000.00	\$30.00	\$336,000.00	\$24.00	\$268,800.00	\$15.00	\$168,000.00	\$50.00	\$560,000.00	\$87.75	\$982,800.00	\$36.00	\$403,200.00	\$20.00	\$224,000.00
79	4R15RSS	196	Each		\$2,087.00	\$409,052.00	\$6,500.00	\$1,274,000.00	\$7,000.00	\$1,372,000.00	\$2,800.00	\$548,800.00	\$2,700.00	\$529,200.00	\$5,300.00	\$1,038,800.00	\$6,752.06	\$1,323,403.76	\$2,900.00	\$568,400.00	\$4,300.00	\$842,800.00

Dana Lin	- Itaan Date	-!1			Ferreira and	Tutor Perini	Creamer	-Sanzari	Gardner M. E	Bishop Inc.	Schiavone Cons	truction Co. LLC		uction and DeFoe	Union Paving and (Const. Co., Inc.	IEW Construc	tion Group, Inc	E.E Cruz and Co	ompany. Inc.	Skanska l	Koch Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	orp AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
80	4ZM11HPC	58,160.00	S.Y.	Precast Deck Panel, HPC	\$500.00	\$29,080,000.00	\$625.00	\$36,350,000.00	\$580.00	\$33,732,800.00	\$520.00	\$30,243,200.00	\$497.50	\$28,934,600.00	\$550.00	\$31,988,000.00	\$732.89	\$42,624,882.40	\$656.00	\$38,152,960.00	\$600.00	\$34,896,000.00
81		4	L.S.	Furnish Steel Protection	\$40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$85,000.00	\$85,000.00	\$46,000.00	\$46,000.00	\$55,000.00	\$55,000.00	\$20,000.00	\$20,000.00	\$0.01	\$0.01	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00
82	4ZH02SPP N5A0001	160	L.S.	Plates 10" Trench Drain	\$331.00	\$52,960.00	\$325.00	\$52,000.00	\$300.00	\$48,000.00	\$180.00	\$28,800.00	\$300.00	\$48,000.00	\$500.00	\$80,000.00	\$390.65	\$62,504.00	\$475.00	\$76,000.00	\$180.00	\$28,800.00
83	5B12DIP	80	L.F.	12" Ductile Iron Pipe	\$84.25	\$6,740.00	\$150.00	\$12,000.00	\$120.00	\$9,600.00	\$120.00	\$9,600.00	\$120.00	\$9,600.00	\$200.00	\$16,000.00	\$88.22	\$7,057.60	\$125.00	\$10,000.00	\$150.00	\$12,000.00
84	5B15RC3	200	L.F.	15" Reinforced Concrete Pipe	\$137.00	\$27,400.00	\$135.00	\$27,000.00	\$160.00	\$32,000.00	\$114.00	\$22,800.00	\$170.00	\$34,000.00	\$200.00	\$40,000.00	\$119.20	\$23,840.00	\$80.00	\$16,000.00	\$140.00	\$28,000.00
85 86	5C01ND1	8	Each Each	Inlet, Type D1	\$2,726.00 \$5,343.00	\$21,808.00 \$21,372.00	\$3,200.00 \$2,750.00	\$25,600.00 \$11,000.00	\$5,000.00 \$4,000.00	\$40,000.00 \$16,000.00	\$3,650.00 \$4,850.00	\$29,200.00 \$19,400.00	\$4,000.00 \$3,500.00	\$32,000.00 \$14,000.00	\$3,500.00 \$4,000.00	\$28,000.00 \$16,000.00	\$4,353.25 \$2,998.22	\$34,826.00 \$11,992.88	\$2,500.00 \$3,000.00	\$20,000.00 \$12,000.00	\$2,200.00 \$3,800.00	\$17,600.00 \$15,200.00
87	5C01ND3 5C01ND2	21	Each	Inlet, Type D3 Inlet, Type D2	\$3,095.00	\$64,995.00	\$2,730.00	\$58,800.00	\$4,000.00	\$84,000.00	\$3,850.00	\$80,850.00	\$4,000.00	\$84,000.00	\$3,500.00	\$73,500.00	\$3,112.89	\$65,370.69	\$2,800.00	\$58,800.00	\$1,500.00	\$31,500.00
88	5C05NG1	38	Each	New Inlet Frame & Grate, Type G-1	\$1,063.00	\$40,394.00	\$1,000.00	\$38,000.00	\$900.00	\$34,200.00	\$2,200.00	\$83,600.00	\$900.00	\$34,200.00	\$1,250.00	\$47,500.00	\$1,389.67	\$52,807.46	\$930.00	\$35,340.00	\$2,200.00	\$83,600.00
89	5C05NG3	10	Each	New Inlet Frame & Grate, Type G-3	\$1,063.00	\$10,630.00	\$1,250.00	\$12,500.00	\$1,200.00	\$12,000.00	\$2,200.00	\$22,000.00	\$1,300.00	\$13,000.00	\$1,500.00	\$15,000.00	\$1,613.21	\$16,132.10	\$1,300.00	\$13,000.00	\$2,000.00	\$20,000.00
90	5C05NG2	20	Each	New Inlet Frame & Grate, Type G-2	\$1,960.00	\$39,200.00	\$1,300.00	\$26,000.00	\$1,200.00	\$24,000.00	\$2,200.00	\$44,000.00	\$1,300.00	\$26,000.00	\$1,500.00	\$30,000.00	\$1,727.88	\$34,557.60	\$1,300.00	\$26,000.00	\$2,000.00	\$40,000.00
91	5C60RIG	8	Each	Replace Existing Inlet Grate	\$1,812.00	\$14,496.00	\$1,600.00	\$12,800.00	\$1,400.00	\$11,200.00	\$2,600.00	\$20,800.00	\$1,600.00	\$12,800.00	\$400.00	\$3,200.00	\$552.25	\$4,418.00	\$1,800.00	\$14,400.00	\$2,000.00	\$16,000.00
92	5H01CMB	2,200.00	L.F.	Concrete Median Barrier, Roadway	\$142.00	\$312,400.00	\$140.00	\$308,000.00	\$175.00	\$385,000.00	\$260.00	\$572,000.00	\$140.00	\$308,000.00	\$135.00	\$297,000.00	\$138.77	\$305,294.00	\$220.00	\$484,000.00	\$217.00	\$477,400.00
93	5H02CMB	9,400.00	L.F.	Concrete Median Barrier, Bridge	\$155.00	\$1,457,000.00	\$225.00	\$2,115,000.00	\$165.00	\$1,551,000.00	\$130.00	\$1,222,000.00	\$190.00	\$1,786,000.00	\$175.00	\$1,645,000.00	\$172.20	\$1,618,680.00	\$200.00	\$1,880,000.00	\$220.00	\$2,068,000.00
94	5H30CRR	2,200.00	L.F.	Concrete Median Barrier Removal, Roadway	\$37.70	\$82,940.00	\$35.00	\$77,000.00	\$100.00	\$220,000.00	\$80.00	\$176,000.00	\$30.00	\$66,000.00	\$50.00	\$110,000.00	\$33.90	\$74,580.00	\$100.00	\$220,000.00	\$60.00	\$132,000.00
95	5H31CRB	9,400.00	L.F.	Concrete Median Barrier Removal, Bridge	\$31.80	\$298,920.00	\$45.00	\$423,000.00	\$100.00	\$940,000.00	\$52.00	\$488,800.00	\$20.00	\$188,000.00	\$50.00	\$470,000.00	\$33.90	\$318,660.00	\$100.00	\$940,000.00	\$50.00	\$470,000.00
96	5J01PCA	2	Each	Parapet Connection, Type A	\$2,004.00	\$4,008.00	\$3,500.00	\$7,000.00	\$2,000.00	\$4,000.00	\$2,650.00	\$5,300.00	\$2,000.00	\$4,000.00	\$2,100.00	\$4,200.00	\$1,803.80	\$3,607.60	\$2,300.00	\$4,600.00	\$3,000.00	\$6,000.00
97	5J01RBG	230	L.F.	Removal of Beam Guide rail	\$4.00	\$920.00	\$10.00	\$2,300.00	\$5.00	\$1,150.00	\$5.00	\$1,150.00	\$5.00	\$1,150.00	\$10.00	\$2,300.00	\$4.29	\$986.70	\$5.00	\$1,150.00	\$5.00	\$1,150.00
98	5J52BGR	110	L.F.	Beam Guide Rail	\$35.00	\$3,850.00	\$50.00	\$5,500.00	\$30.00	\$3,300.00	\$25.00	\$2,750.00	\$30.00	\$3,300.00	\$30.00	\$3,300.00	\$21.47	\$2,361.70	\$30.00	\$3,300.00	\$20.00	\$2,200.00
99	5001CAW	100	Each	Delineator, Type CA-W Pavement Striping, White	\$35.00	\$3,500.00	\$40.00	\$4,000.00	\$30.00	\$3,000.00	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$75.00	\$7,500.00	\$27.92	\$2,792.00	\$30.00	\$3,000.00	\$30.00	\$3,000.00
100	5P06PTW	47,700.00	L.F.	6" Wide Pavement Striping, Yellow,	\$1.00	\$47,700.00	\$0.55	\$26,235.00	\$0.75	\$35,775.00	\$0.70	\$33,390.00	\$0.60	\$28,620.00	\$0.75	\$35,775.00	\$0.57	\$27,189.00	\$0.60	\$28,620.00	\$1.00	\$47,700.00
101	5P06PTY	31,435.00	L.F.	6" Wide Pavement Striping, White	\$1.00	\$31,435.00	\$0.55	\$17,289.25	\$0.75	\$23,576.25	\$0.70	\$22,004.50	\$0.60	\$18,861.00	\$0.75	\$23,576.25	\$0.57	\$17,917.95	\$0.60	\$18,861.00	\$1.00	\$31,435.00
102	5P00001	4,300.00	S.F.	Solid Removal of Pavement	\$1.50	\$6,450.00	\$1.30	\$5,590.00	\$1.60	\$6,880.00	\$1.50	\$6,450.00	\$1.30	\$5,590.00	\$1.60	\$6,880.00	\$1.35	\$5,805.00	\$1.20	\$5,160.00	\$5.00	\$21,500.00
104	5P07REM	25,000.00	L.F.	Stripes (Hydromilling)	\$1.00	\$25,000.00	\$0.50	\$12,500.00	\$0.80	\$20,000.00		\$18,750.00	\$0.50		\$0.60	\$15,000.00	\$0.48		\$0.85	\$21,250.00	\$3.50	\$87,500.00
105	5P10REM	127,500.00	L.F.	Striping Removal	\$0.50	\$63,750.00	\$0.40	\$51,000.00	\$0.50	\$63,750.00	\$0.45	\$57,375.00	\$0.40	\$51,000.00	\$0.50	\$63,750.00	\$0.41	\$52,275.00	\$0.50	\$63,750.00	\$1.25	\$159,375.00
106	5P14TMP	13,400.00	L.F.	Removable Wet Weather Pavement Marking Tape	\$2.40	\$32,160.00	\$2.50	\$33,500.00	\$2.50	\$33,500.00	\$2.05	\$27,470.00	\$2.50	\$33,500.00	\$2.20	\$29,480.00	\$2.52	\$33,768.00	\$2.50	\$33,500.00	\$5.00	\$67,000.00
107	5P18TMP	44,000.00	L.F.	Temporary Pavement Striping, Long Life Thermoplastic	\$0.65	\$28,600.00	\$0.40	\$17,600.00	\$0.75	\$33,000.00	\$0.70	\$30,800.00	\$0.40	\$17,600.00	\$0.50	\$22,000.00	\$0.41	\$18,040.00	\$0.65	\$28,600.00	\$1.50	\$66,000.00
108	5P19LLS	132,000.00	L.F.	Temporary Pavement Striping Latex	\$0.25	\$33,000.00	\$0.25	\$33,000.00	\$0.26	\$34,320.00	\$0.25	\$33,000.00	\$0.25	\$33,000.00	\$0.30	\$39,600.00	\$0.25	\$33,000.00	\$0.25	\$33,000.00	\$1.00	\$132,000.00
109	5Q02FDO	40	Month	Maintain Field Office	\$3,000.00	\$120,000.00	\$1,000.00	\$40,000.00	\$2,000.00	\$80,000.00	\$6,000.00	\$240,000.00	\$4,500.00	\$180,000.00	\$3,000.00	\$120,000.00	\$2,791.60	\$111,664.00	\$2,500.00	\$100,000.00	\$6,000.00	\$240,000.00
110	5Q20FOE	1	L.S.	Furnish Field Office Equipment	\$63,000.00	\$63,000.00	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$104,759.65	\$104,759.65	\$59,264.80	\$59,264.80	\$30,000.00	\$30,000.00	\$106,387.91	\$106,387.91	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
111	5Y01MRC	30	Each	Mile Marker, Type RC	\$24.00	\$720.00	\$150.00	\$4,500.00	\$50.00	\$1,500.00	\$125.00	\$3,750.00	\$170.00	\$5,100.00	\$225.00	\$6,750.00	\$176.09	\$5,282.70	\$175.00	\$5,250.00	\$165.00	\$4,950.00
112	5ZO0060	60,670.00	S.Y.	Micro-Milling Deck Surface Force Account For Snow	\$10.00	\$606,700.00	\$8.00	\$485,360.00	\$7.00	\$424,690.00	\$6.85	\$415,589.50	\$7.00	\$424,690.00	\$7.50	\$455,025.00	\$10.87	\$659,482.90	\$6.75	\$409,522.50	\$5.00	\$303,350.00
				Removal. (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$52,000. Enter a Unit Price of \$52,000 as your bid for																		
113	5ZM01FAS	1	C.P.	this item.) Crushed Concrete	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00
114	5ZO0057	14,500.00	S.Y.	Placement #4/0 A.W.G. Multiple	\$24.00	\$348,000.00	\$10.00	\$145,000.00	\$10.00	\$145,000.00	\$30.00	\$435,000.00	\$5.00	\$72,500.00	\$6.00	\$87,000.00	\$10.37	\$150,365.00	\$7.00	\$101,500.00	\$45.00	\$652,500.00
115	6A00006	80,300.00	L.F.	Lighting Cable	\$12.25	\$983,675.00	\$12.00	\$963,600.00	\$8.00	\$642,400.00		\$361,350.00	\$9.00		\$9.00	\$722,700.00	\$8.05	\$646,415.00	\$11.10	\$891,330.00	\$9.00	\$722,700.00
116	6A00086	26	Each	Junction Box, Type E Junction Box, Type Nema	\$893.00	\$23,218.00	\$850.00	\$22,100.00	\$800.00	\$20,800.00	\$1,200.00	\$31,200.00	\$1,400.00	\$36,400.00	\$1,500.00	\$39,000.00	\$1,954.12	\$50,807.12	\$810.00	\$21,060.00	\$1,600.00	\$41,600.00
117	6A00088	9	Each	4X, 12" X 24" X 36" Stainless Steel	\$3,124.00	\$28,116.00	\$2,750.00	\$24,750.00	\$2,800.00	\$25,200.00	\$750.00	\$6,750.00	\$7,000.00	\$63,000.00	\$2,000.00	\$18,000.00	\$1,610.54	\$14,494.86	\$3,000.00	\$27,000.00	\$3,000.00	\$27,000.00
118	6A00089	6	Each	Junction Box, Type Nema 4X, 12" X 18" X 24" Stainless Steel	\$2,231.00	\$13,386.00	\$2,250.00	\$13,500.00	\$2,000.00	\$12,000.00	\$550.00	\$3,300.00	\$5,000.00	\$30,000.00	\$850.00	\$5,100.00	\$1,395.80	\$8,374.80	\$2,000.00	\$12,000.00	\$2,000.00	\$12,000.00
119	6A00092	11	Each	Junction Box, Type Nema 4X, 8" X 8" X 24" Stainless Steel	\$1,116.00	\$12,276.00	\$1,100.00	\$12,100.00	\$1,000.00	\$11,000.00	\$400.00	\$4,400.00	\$3,000.00	\$33,000.00	\$1,300.00	\$14,300.00	\$1,062.95	\$11,692.45	\$1,000.00	\$11,000.00	\$1,500.00	\$16,500.00
	1	40.500.00		#1/0 A.W.G. Ground Wire																		
120 121	6A01GWR 6A02GWR	19,500.00 4,900.00	L.F.	#2 A.W.G. Ground Wire	\$5.60 \$5.60	\$109,200.00 \$27,440.00	\$5.00 \$5.00	\$97,500.00 \$24,500.00	\$5.00 \$5.00	\$97,500.00 \$24,500.00		\$25,350.00 \$8,820.00	\$4.50 \$3.00	\$87,750.00 \$14,700.00	\$4.50 \$3.75	\$87,750.00 \$18,375.00	\$3.22 \$2.68	\$62,790.00 \$13,132.00	\$5.10 \$5.10	\$99,450.00 \$24,990.00	\$6.00 \$5.00	\$117,000.00 \$24,500.00
	37.0201111	.,000.00			ψ0.00		ψ3.50	1,000.00	ψ0.00	+= 1,000.00	ψ00	Ţ3,020.00	ψ5.00	Ţ,. cc.oo	ψ0σ	÷ : 5,5 : 5:50	Ψ2.00	Ţ.0,10 <u>2.00</u>	ψ00		ψ0.00	+= 1,000.00

Page Lie	e Item Det	oil			Ferreira and Tutor Perini Creamer-Sanzari				Gardner M. Bishop Inc. Schiavone Construction Co. LLC					uction and DeFoe	Union Paving and	Const. Co., Inc.	IEW Construc	tion Group, Inc	E.E Cruz and Company, Inc.		Skanska	Koch Inc.
	Item No. Unit Code QTY UNIT DESCRIPTION			RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	
122	6A02SVC	19,500.00	L.F.	#2 A.W.G. Service Cable (600v)	\$4.45	\$86,775.00	\$4.25	\$82,875.00	\$4.00	\$78,000.00	\$3.00	\$58,500.00	\$4.00	\$78,000.00	\$4.25	\$82,875.00	\$4.19	\$81,705.00	\$4.00	\$78,000.00	\$5.00	\$97,500.00
		-		3" Rigid Metallic Conduit,																		
123	6A03RMS	37,520.00	L.F.	on Structures #6 A.W.G. Service Cable	\$21.20	\$795,424.00	\$20.00	\$750,400.00	\$19.00	\$712,880.00	\$35.00	\$1,313,200.00	\$30.00	\$1,125,600.00	\$20.00	\$750,400.00	\$29.20	\$1,095,584.00	\$19.25	\$722,260.00	\$40.00	\$1,500,800.00
124	6A06SVC 6A08GWR	4,800.00 1,640.00	L.F.	(600V) #8 A.W.G. Ground Wire	\$3.90 \$1.65	\$18,720.00 \$2,706.00	\$3.75 \$1.50	\$18,000.00 \$2,460.00	\$3.50 \$1.50	\$16,800.00 \$2,460.00	\$5.00 \$2.50	\$24,000.00 \$4,100.00	\$4.00 \$1.00	\$19,200.00 \$1,640.00	\$3.00 \$1.40	\$14,400.00 \$2,296.00	\$3.22 \$1.18	\$15,456.00 \$1,935.20	\$3.60 \$1.50	\$17,280.00 \$2,460.00	\$4.00 \$3.00	\$19,200.00 \$4,920.00
125 126	6A24JBC	1,640.00	Each	Junction Box, Type C	\$2,008.00	\$2,708.00	\$2,000.00	\$2,460.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$3,650.55	\$3,650.55	\$2,000.00	\$2,460.00	· · · · · · · · · · · · · · · · · · ·	\$7,200.00
127	6A25JBD	50	Each	Junction Box, Type D	\$781.00	\$39,050.00	\$750.00	\$37,500.00	\$1,800.00	\$90,000.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00	\$1,500.00	\$75,000.00	\$1,030.74	\$51,537.00	\$800.00	\$40,000.00	\$1,000.00	\$50,000.00
128	6A65RAS	1	Lump	Remove and Salvage Existing Facilities	\$278,932.00	\$278,932.00	\$100,000.00	\$100,000.00	\$360,000.00	\$360,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$110,000.00	\$110,000.00	\$165,992.77	\$165,992.77	\$300,000.00	\$300,000.00	\$260,000.00	\$260,000.00
				Bridge Mounted Navigation Lighting																		
129	6A00020	6	Each	Assembly	\$9,149.00	\$54,894.00	\$8,500.00	\$51,000.00	\$8,200.00	\$49,200.00	\$5,000.00	\$30,000.00	\$10,000.00	\$60,000.00	\$9,000.00	\$54,000.00	\$8,267.43	\$49,604.58	\$8,500.00	\$51,000.00	\$6,200.00	\$37,200.00
				Fender Mounted Navigation Lighting																		
130	6A00021	4	Each	, , ,	\$9,037.00	\$36,148.00	\$8,400.00	\$33,600.00	\$8,100.00	\$32,400.00	\$3,000.00	\$12,000.00	\$9,000.00	\$36,000.00	\$6,500.00	\$26,000.00	\$6,979.00	\$27,916.00	\$8,500.00	\$34,000.00	\$10,000.00	\$40,000.00
131	6A00087	1	L.S.	Bridge Grounding System	\$237,600.00	\$237,600.00	\$225,000.00	\$225,000.00	\$216,000.00	\$216,000.00	\$10,000.00	\$10,000.00	\$250,000.00	\$250,000.00	\$225,000.00	\$225,000.00	\$225,904.78	\$225,904.78	\$220.00	\$220.00	\$145,000.00	\$145,000.00
				3" PVC Coated Galvanized Conduit,																•		
132	6A00090	11,900.00	L.F.	Exposed 3/C #10 A.W.G. Soow	\$61.35	\$730,065.00	\$80.00	\$952,000.00	\$55.00	\$654,500.00	\$55.00	\$654,500.00	\$90.00	\$1,071,000.00	\$50.00	\$595,000.00	\$55.83	\$664,377.00	\$56.00	\$666,400.00	\$65.00	\$773,500.00
133	6A00091	560	L.F.	Cable	\$2.25	\$1,260.00	\$2.50	\$1,400.00	\$2.00	\$1,120.00	\$6.00	\$3,360.00	\$12.00	\$6,720.00	\$14.00	\$7,840.00	\$3.76	\$2,105.60	\$3.00	\$1,680.00	\$20.00	\$11,200.00
				2" PVC Coated Galvanized Conduit,																		
134	6A02PGE	750	L.F.	Exposed 1-1/2" PVC Coated	\$40.00	\$30,000.00	\$40.00	\$30,000.00	\$35.00	\$26,250.00	\$25.00	\$18,750.00	\$50.00	\$37,500.00	\$50.00	\$37,500.00	\$51.54	\$38,655.00	\$36.00	\$27,000.00	\$45.00	\$33,750.00
135	6A10PGE	920	L.F.	Galvanized Conduit,	\$33.45	\$30,774.00	\$30.00	\$27,600.00	\$30.00	\$27,600.00	\$22.00	\$20,240.00	\$50.00	\$46,000.00	\$50.00	\$46,000.00	\$48.32	\$44,454.40	\$31.00	\$28,520.00	\$152.00	\$139,840.00
	BATUPGE	920		Exposed Lighting Standard, Type L-					·								•					
136	6B15LMGS	48	Each	MG-40-SB	\$2,120.00	\$101,760.00	\$2,000.00	\$96,000.00	\$1,900.00	\$91,200.00	\$2,200.00	\$105,600.00	\$2,600.00	\$124,800.00	\$2,800.00	\$134,400.00	\$2,448.02	\$117,504.96	\$2,000.00	\$96,000.00	\$2,500.00	\$120,000.00
137	6B25TP2	61	Each	Type P2 Luminaire, 250W	\$1,339.00	\$81,679.00	\$1,250.00	\$76,250.00	\$1,200.00	\$73,200.00	\$600.00	\$36,600.00	\$1,200.00	\$73,200.00	\$2,000.00	\$122,000.00	\$1,245.48	\$75,974.28	\$1,210.00	\$73,810.00	\$1,500.00	\$91,500.00
138	6B45LMG	13	Each	Lighting Standard, Type L- MG-40	\$2,120.00	\$27,560.00	\$2,000.00	\$26,000.00	\$1,900.00	\$24,700.00	\$2,200.00	\$28,600.00	\$3,000.00	\$39,000.00	\$3,500.00	\$45,500.00	\$2,533.91	\$32,940.83	\$1,920.00	\$24,960.00	\$2,800.00	\$36,400.00
139	6B00064	1	L.S.	Doremus Avenue Power Equipment	\$39,050.00	\$39,050.00	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00	\$400,000.00	\$400,000.00	\$550,000.00	\$550,000.00	\$200,000.00	\$200,000.00	\$112,093.44	\$112,093.44	\$35,000.00	\$35,000.00	\$220,000.00	\$220,000.00
				Bridge Transformer																		
140	6B00065	1	L.S.	Station Power Equipment	\$16,736.00	\$16,736.00	\$17,500.00	\$17,500.00	\$15,000.00	\$15,000.00	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00	\$33,000.00	\$33,000.00	\$13,313.78	\$13,313.78	\$15,000.00	\$15,000.00	\$32,000.00	\$32,000.00
141	6B00066	1	L.S.	Temporary Lighting Systems	\$900,000.00	\$900,000.00	\$275,000.00	\$275,000.00	\$800,000.00	\$800,000.00	\$150,000.00	\$150,000.00	\$250,000.00	\$250,000.00	\$375,000.00	\$375,000.00	\$419,169.32	\$419,169.32	\$1,000,000.00	\$1,000,000.00	\$450,000.00	\$450,000.00
142	6J00085	2	Each	Aviation Beacon	\$11,157.00	\$22,314.00	\$12,500.00	\$25,000.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	\$20,000.00	\$40,000.00	\$17,000.00	\$34,000.00	\$4,831.62	\$9,663.24	\$11,000.00	\$22,000.00	\$45,000.00	\$90,000.00
143	6J00090	1	L.S.	Wireless Indicator System	\$83,680.00	\$83,680.00	\$80,000.00	\$80,000.00	\$75,000.00	\$75,000.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$105,000.00	\$105,000.00	\$68,072.07	\$68,072.07	\$75,000.00	\$75,000.00	\$90,000.00	\$90,000.00
144	8A06MPT	20	Barrel	Repair Temporary Impact Attenuators	\$232.00	\$4,640.00	\$375.00	\$7,500.00	\$350.00	\$7,000.00	\$1,029.71	\$20,594.20	\$600.00	\$12,000.00	\$450.00	\$9,000.00	\$946.22	\$18,924.40	\$600.00	\$12,000.00	\$1,400.00	\$28,000.00
145	8B01MPT	27,600.00	L.F.	Furnishing Concrete Barrier	\$36.00	\$993,600.00	\$30.00	\$828,000.00	\$40.00	\$1,104,000.00	\$22.00	\$607,200.00	\$25.00	\$690,000.00	\$15.00	\$414,000.00	\$17.44	\$481,344.00	\$30.00	\$828,000.00	\$20.00	\$552,000.00
	0201111111			Picking Up and Returning	755115	7000,0000	******	V	7.0.00	* 1,10 1,00010	Ų	Q 001,200100		4	7.0.00	*****	******	, , , , , , , , , , , , , , , , , , , 	******	V ,	Ų	4 00=,000
				Authority's Traffic																		
146	8B09MPT	1	L.S.	Protection Devices Placing and Removing	\$4,675.00	\$4,675.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$5,705.36	\$5,705.36	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
147	8B10MPT	32,000.00	L.F.	Concrete Barrier	\$15.00	\$480,000.00	\$25.00	\$800,000.00	\$30.00	\$960,000.00	\$20.00	\$640,000.00	\$15.00		\$24.00	\$768,000.00	\$24.67	\$789,440.00	\$21.00	\$672,000.00		\$1,280,000.00
148	8B15MPT	13,000.00	M.H.	Traffic Protection Patrol Furnishing Truck with	\$69.00	\$897,000.00	\$25.00	\$325,000.00	\$50.00	\$650,000.00	\$80.00	\$1,040,000.00	\$90.00	\$1,170,000.00	\$75.00	\$975,000.00	\$78.28	\$1,017,640.00	\$18.00	\$234,000.00	\$85.00	\$1,105,000.00
149	8B17MPT	11	Each		\$35,310.00	\$388,410.00	\$12,500.00	\$137,500.00	\$5,000.00	\$55,000.00	\$23,745.52	\$261,200.72	\$22,000.00	\$242,000.00	\$1.00	\$11.00	\$0.01	\$0.11	\$25,000.00	\$275,000.00	\$35,000.00	\$385,000.00
150	8B18MPT	15	Each	Impact Attenuator	\$3,666.00	\$54,990.00	\$5,000.00	\$75,000.00	\$500.00	\$7,500.00	\$4,497.68	\$67,465.20	\$6,000.00	\$90,000.00	\$5,500.00	\$82,500.00	\$4,882.61	\$73,239.15	\$4,000.00	\$60,000.00	\$12,000.00	\$180,000.00
				Furnishing Truck with Mounted Attenuator for																		
151	8B19MPT	1,200.00	M.H.	Engineer's Use Placing and Removing	\$69.05	\$82,860.00	\$100.00	\$120,000.00	\$20.00	\$24,000.00	\$85.17	\$102,204.00	\$70.00	\$84,000.00	\$75.00	\$90,000.00	\$87.64	\$105,168.00	\$75.00	\$90,000.00	\$80.00	\$96,000.00
				Temporary Impact														•		•••		• • • • • • • • • • • • • • • • • • • •
152	8B20MPT	24			\$2,066.00	\$49,584.00	\$3,500.00	\$84,000.00	\$2,000.00	\$48,000.00	\$1,152.98	\$27,671.52	\$1,000.00	\$24,000.00	\$2,200.00	\$52,800.00	\$2,935.68		\$1,600.00	\$38,400.00		\$144,000.00
153	8B23MPT	26,100.00	L.F.	Modular Guidance System Furnishing Traffic	\$20.00	\$522,000.00	\$18.00	\$469,800.00	\$25.00	\$652,500.00	\$25.00	\$652,500.00	\$15.00	\$391,500.00	\$20.00	\$522,000.00	\$18.44	\$481,284.00	\$18.50	\$482,850.00	\$58.00	\$1,513,800.00
154	8B24MPT	1	L.S.	Protection Devices	\$384,184.00	\$384,184.00	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00	\$180,000.00	\$180,000.00	\$500,000.00	\$500,000.00	\$350,000.00	\$350,000.00	\$57,442.52	\$57,442.52	\$500,000.00	\$500,000.00	\$120,000.00	\$120,000.00
155	8B25MPT	15	Each	Furnish Variable Message Sign	\$22,363.00	\$335,445.00	\$12,500.00	\$187,500.00	\$10,000.00	\$150,000.00	\$15,000.00	\$225,000.00	\$22,000.00	\$330,000.00	\$12,000.00	\$180,000.00	\$10,502.26	\$157,533.90	\$13,000.00	\$195,000.00	\$20,000.00	\$300,000.00
				Installation, Maintenance,													· <u> </u>			· <u> </u>		
450	00001107	005	F	and Removal of Lane Closing	\$2.000.00	¢4 240 000 00	¢0.750.00	Ø4 660 750 00	60 000 00	£4 040 000 00	60 000 00	¢4 240 000 00	#2.000.00	Ø4 045 000 00	#0.000.00	¢4 240 000 00	64.007.05	\$4,000,00F,0F	04.045.00	¢705 575 ^^	#4F0 00	#070 OFO 00
156	8B26MPT	605		Resetting Concrete Barrier	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$1,210,000.00	\$2,750.00	\$1,663,750.00	\$2,000.00	\$1,210,000.00		\$1,210,000.00	\$3,000.00	\$1,815,000.00	\$2,000.00	\$1,210,000.00	\$1,687.05	\$1,020,665.25	\$1,315.00	\$795,575.00		\$272,250.00
157	N8B0002	43,100.00	L.F.	Tresering Concrete Daffler	\$7.35	\$316,785.00	\$15.00	\$646,500.00	\$30.00	\$1,293,000.00	\$18.00	\$775,800.00	\$10.00	\$431,000.00	\$18.00	\$775,800.00	\$20.26	\$873,206.00	\$10.00	\$431,000.00	\$35.00	\$1,508,500.00

					-	1			<u> </u>		1		Railroad Constru	ction and DeFoe		ı		Г				
	e Item Det				Ferreira and Tutor Perini		Creamer-S		Gardner M.		Schiavone Cons		Co	orp		d Const. Co., Inc.		tion Group, Inc		Company, Inc.	Skanska	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
				Police Traffic Directors (This is a NO-BID, Lump																		
				Sum item for this contract.																		
				The Lump Sum price is \$200,000. Enter a Unit																		
				Price of \$200,000 as your bid for this item.)																		
158	8A22MPT	1	L.S.		\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
				Maintenance and Protection of Traffic on																		
159	8C21MLR	1	L.S.	Location No. 1 Maintenance and	\$10,572.00	\$10,572.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$2,147.38	\$2,147.38	\$2,500.00	\$2,500.00	\$22,000.00	\$22,000.00
				Protection of Traffic on					•	•		•••		•	•			******			•	
160	8C22MLR	1	L.S.	Location No. 2 Maintenance and	\$24,089.00	\$24,089.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$80,000.00	\$80,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$92,881.58	\$92,881.58	\$25,000.00	\$25,000.00	\$22,000.00	\$22,000.00
161	8C23MLR	1	L.S.	Protection of Traffic on Location No. 3	\$14,917.00	\$14,917.00	\$17,500.00	\$17,500.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$5,240.60	\$5,240.60	\$1,500.00	\$1,500.00	\$22,000.00	\$22,000.00
101	OCZSIVILIX	'	L.O.	Maintenance and	\$14,317.00	ψ14,317.00	\$17,500.00	ψ17,500.00	Ψ20,000.00	\$20,000.00	ψ12,000.00	ψ12,000.00	ψ10,000.00	\$10,000.00	ψ13,000.00	\$15,000.00	ψ5,240.00	ψ3,240.00	ψ1,500.00	\$1,000.00	Ψ22,000.00	\$22,000.00
162	8C24MLR	1	L.S.	Protection of Traffic on Location No. 4	\$12.474.00	\$12,474.00	\$12,500.00	\$12,500.00	\$20,000,00	\$20,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$5.000.00	\$5,000.00	\$5,240.60	\$5,240.60	\$1,500.00	\$1,500.00	\$22,000.00	\$22,000.00
	OOZ IIIIZIY			Maintenance and	¥12,11 1100	¥1.2,11.1100	* ****,*******************************	* - , - , - , - , - , - , - , - , - , - 	V =0,000.00	4	V .0,000.00	****	V : 0,000	V 10,000.00		40,000.00	**,=:	70,-10100	V .,000.00	V 1,000.00		
163	8C25MLR	1	L.S.	Protection of Traffic on Location No. 5	\$54,336.00	\$54,336.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$26,000.00	\$26,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$8,333.80	\$8,333.80	\$11,000.00	\$11,000.00	\$22,000.00	\$22,000.00
				Maintenance and																		
164	8C26MLR	1	L.S.	Protection of Traffic on Location No. 6	\$18,065.00	\$18,065.00	\$17,500.00	\$17,500.00	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,851.28	\$4,851.28	\$4,300.00	\$4,300.00	\$22,000.00	\$22,000.00
				Maintenance and Protection of Traffic on																		
165	8C27MLR	1	L.S.	Location No. 7	\$22,951.00	\$22,951.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$7,555.19	\$7,555.19	\$4,300.00	\$4,300.00	\$22,000.00	\$22,000.00
				Railroad Reimbursement Costs (This is a NO-BID.																		
				Lump Sum item for this																		
				contract. The Lump Sum price is \$30,000. Enter a																		
166	8D30MRR	1	L.S.	Unit Price of \$30,000 as your bid for this item.)	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
	OBOOMITAT			Maintenance and	4 00,000.00	***************************************	4 00,000	****	4 00,000.00	V 00,000	Q	***************************************	*************************************	4 00,000.00	***************************************	V 00,000	****	V 00,000.00	****	V 00,000.00	***************************************	V 00,000.00
167	8E01MMT	1	L.S.	Protection Marine Traffic	\$27,500.00	\$27,500.00	\$75,000.00	\$75,000.00	\$25,000.00	\$25,000.00	\$8,800.00	\$8,800.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$57,442.52	\$57,442.52	\$1.00	\$1.00	\$7,000.00	\$7,000.00
				Standby Wrecker Service,				·		·												
				Light Duty (This is a NO-																		
				BID, Hourly item for this contract. The Hourly price																		
				is \$60.00. Enter a Unit Price of \$60.00 as your bid																		
168	N8G0004	6,000.00	Hour	for this item.)	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00	\$60.00	\$360,000.00
				Video Archiving System																		
				(This is a NO-BID, Lump																		
				Sum item for this contract. The Lump Sum price is																		
				\$150,000. Enter a Unit Price of \$150,000 as your																		
169	8H00001	1	L.S.	bid for this item.)	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
170	5P01DMG	8,200.00		Diamond Grinding	\$3.00	\$24,600.00	\$1.70	\$13,940.00	\$2.00		\$1.75	\$14,350.00	\$2.00	\$16,400.00	\$2.00	\$16,400.00	\$1.66		\$2.00		\$14.00	
171	5P01CMT	8,200.00	L.F.	Preformed Contrast Marking Tape	\$10.00	\$82,000.00	\$5.00	\$41,000.00	\$7.00	\$57,400.00	\$7.00	\$57,400.00	\$5.00	\$41,000.00	\$5.00	\$41,000.00	\$5.15	\$42,230.00	\$5.50	\$45,100.00	\$14.00	\$114,800.00
172	5P17TMP	66,000.00	L.F.	Temporary Pavement Striping, Epoxy Resin	\$0.45	\$29,700.00	\$0.30	\$19,800.00	\$0.40	\$26,400.00	\$3.80	\$250,800.00	\$0.30	\$19,800.00	\$0.40	\$26,400.00	\$0.31	\$20,460.00	\$0.40	\$26,400.00	\$1.50	\$99,000.00
112	JE I / HVIP	50,000.00	£.F.	Asphalt Price Adjustment	φυ.45	ΨΣ3,100.00	φυ.30	ψ19,000.00	φυ.40	ΨΖΟ,ΨΟΟ.ΟΟ	φ3.00	Ψ230,000.00	φυ.30	ψ13,000.00	φυ.40	Ψ20,400.00	φυ.31	Ψ20,400.00	φυ.40	Ψ20,400.00	φ1.50	φυσ,υυυ.υυ
				(This is a NO-BID, Lump																		
				Sum item for this contract. The Lump Sum price is																		
				\$120,000. Enter a Unit																		
470	2P4004P4		L.S.	Price of \$120,000 as your bid for this item.)	\$120,000.00	\$120,000.00	¢420.000.00	¢400.000.00	\$400,000,00	#400 000 00	¢400.000.00	¢400.000.00	¢400.000.00	\$400,000,00	¢490,000,00	\$420,000,00	\$120,000.00	¢400.000.00	¢400.000.00	\$420,000,00	\$100.000.00	\$120,000.00
173	3B120APA	1		Stainless Steel				\$120,000.00				\$120,000.00		\$120,000.00	\$120,000.00				\$120,000.00		\$120,000.00	
174	4A01SSR	11,000.00	Pound	Reinforcement Precast Deck Panel, HPC,	\$10.00	\$110,000.00	\$5.00	\$55,000.00	\$7.00	\$77,000.00	\$6.80	\$74,800.00	\$4.00	\$44,000.00	\$7.00	\$77,000.00	\$4.95	\$54,450.00	\$8.00	\$88,000.00	\$5.00	\$55,000.00
			_	with Stainless Steel				****				 ·			_		<u>.</u> .		_			* :
175	4ZM14HPC	2,510.00	S.Y.	Reinforcement Furnish, Installation and	\$900.00	\$2,259,000.00	\$800.00	\$2,008,000.00	\$700.00	\$1,757,000.00	\$610.00	\$1,531,100.00	\$800.00	\$2,008,000.00	\$950.00	\$2,384,500.00	\$932.63	\$2,340,901.30	\$800.00	\$2,008,000.00	\$700.00	\$1,757,000.00
470	0400400	7 000 00		Removal of Utility	647.00	£404.400.00	Ø4F.00	\$330 F00 00	640.00	#202.202.20	ф т о оо	PE44 000 00	#00.00	¢400 000 00	640.00	¢70 000 00	#00.00	Ø460 000 00	64.00	¢7 000 00	Ф7 Е ^^	¢E47 500 00
176	6A00102	7,300.00	L.F.	Shielding Base Total	\$17.00	\$124,100.00 \$93,419,000.00	\$45.00	\$328,500.00 \$104,397,899.25	\$40.00	\$292,000.00 \$109,782,876.25		\$511,000.00 \$113,690,000.00	\$26.00	\$189,800.00 \$114,919,361.80	\$10.00	\$73,000.00 \$116,667,788.25	\$63.06	\$460,338.00 \$122,431,512.74	\$1.00	\$7,300.00 \$128,344,989.50	\$75.00	\$547,500.00 \$145,686,515.00
						,	l.	. ,				,		,								